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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

* E H 4AQ 1 ﬁ H l Question ID : 9864493796
L %Q' = & a‘ﬁ-UT ofa T -Eﬂglnq Status : Answered

Chosen Option : 3

BR4AQ16HI

The mirror image of the above figure is

™ x|HE1QA4RB
“:|Ha rQAMHE
v-IHerOAMPHE
<+ |HIrOAMARSB

Q.2 fGw gu FU= N W AT G T 7 F{ [ Fiel W ST F2AT F7 dlicheh
A AT LAl B8

Question ID : 9864494317
Status : Answered
Chosen Option : 2

YA

Gt gfepitet aigeh &1 o aIgHd g &

forsd:
1wl gierepicet s1sad §l
2 FE FgHRT oI §

Consider the given statements to be true and decide which of the conclusions logieally
follow(s) from the statements.

Statements:

All the helicopters are carriers. Some bikes are carriers.

Conclusions:
1. All the helicopters are bikes.
2. Some bikes are helicopters.

Ans x 1 feiserdy 1 31IC 2 QT SfepaRoT d 2l

Both conclusions 1 and 2 follow.

7o ar forseany 1, 7 2 3TTEOT AT B

Neither conclusion 1 nor 2 follows.



www.govtjobsalert.in
3 A {2 3EOT T ¢

Only conclusion 2 follows.

AT foisehy 1 37]E0T T Bl
X oa

Only conclusion 1 follows.

Q3 Corics T
Ilﬁ VI 1 AT TH %’ Eﬁ Eﬁ &ar SArdr %’) Question ID : 9864493266
If V/I is a constant, it is called: Status : Not Answered

Ans Chosen Option : --
iaagua T
Ko 27

X2 fersTaTery
Potential difference
Resistance

Her
Ka "

Coulomb

Q.4 gmw AR AT & T T HHEl B FEI F HAA 51 9 o0 e STAqA
R AT F E I FAl B BEIT F AGIS 7: 18 1| IoF AR A
& ITH 39CIed &l HT HEAT H FJIS e 87

Question ID : 9864493006
Status : Answered

The ratio of the number of marbles that Pulak and Menaja had was 5 : 9 while the ratio of Chosen Option : 1

the number of marbles that Jairam and Menaja had was 7 : 18. What is the ratio of the
number of marbles that Pulak and Jairam had?

ans o 110:7
X257
X32:3

X4T:5

Q5 fgg TH F gad 39959 BeeT o1
A 2 5| Question ID : 9864493474

TH dF 3TEAT F 37T 9T TBYRET 9 ¥ o T %\- | Status : Not Answered
Chosen Option : --

Fill in the blank with the most appropriate option.

An element attains stability when it achieves state.

Ans X1_aa—c|?~rua?3$1'a%€

an only-octet

Z.EEF%'QE'

a heptate
heel Ueh EColc
K3 2
an only-duplet
T Foolc AT e
4.

a duplet or octet

x

v

Q.6 TH TET W T T F Tasg & T T FR e g6 It SEe
> ® - Question ID : 9864493522
forams _ @
. - . . Status : Answered
‘Work done by an object on application of a force would be zero if the displacement of the
object is: Chosen Option :2
Ans TATCHS

1.
positive



. AT
2 °

L2810

FUMMcHS
‘ negative
X4 ;

neutral

K3
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Q7 v I5g, T oufa & e 2, 4 Fiiey ofa =9 9 & TR e &
TN S & | 8 VekE & o1, TEHRT 1T Freer g

An object, starting from rest, moves with constant acceleration of
4 m/s?. After 8 s, its speed is:

Ans v 32 i dFs
32 m/s
4 #eT ufy &
4 m/s
8 #rey gfy Thz
8m/s
16 Hrer 9fy A

16 m/'s

X2

X 3.

X4

Question ID
Status
Chosen Option

19864493219
:Answered
1

Q.8 v wHEGHS & & we 24 m® AT 5% vE et i dEe 8 m gl FEES
F el =T B oA Fhar g@eh?

The area of a rhombus is 24 m? and the length of one of its diagonals is 8 m. The length of
each side of the thombus will be:

Ans x1_ fm
X 24m
/< 310m
Vv 45m

Question ID
Status

Chosen Option :

19864492934
:Not Answered

9% 1 f@dsT 2020 I Hi=ar &7 ge?

What day would it be on 1 September 20207

Ans IHAN
X1
Thursday

NG
Tuesday
Yehdll

W2

< 3.
Friday
gUdR

-2

| Wednesday

K4

Question ID
Status
Chosen Option

19864492893
:Answered
12

Q.10

Question ID :
Status :
Chosen Option :

9864494206
Answered
3
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@ § 4
a b c d
Select the odd figure one out the given series.

o
L ymn
& §
a b c d
Ans o 1 4
X 2b

K 3a
X4
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T AT Y

Burning Magnesium ribbon produces white ash, which dissolves in water to form

g, R e
Magnesium Hydroxide

X HeATRraa sirass
Magnesium Oxide

, HeAferaT goesy
Magnesium Halides

, HTATRH Hethe

Magnesium Sulphate

x

x

x

Question ID : 9864493089
Status : Not Answered
Chosen Option : --

Q.12 sing & Aew FEET dEd #i9 8, T Sl 2018 A s FEeR

TrgoT faam &7
‘Who is the Chief Election Commissioner of India who took charge in January 20187

Ans x GIAVIA =
1.

Subramanian Swamy
TETH Al
| Raghuram Rajan
WSS FAR
’ Ranjit Kumar
v AT Jehrer Tad
Om Prakash Rawat

K2

x

Hesrirgs N 1 o= & wihe T scde ot &, o A F o g &

Question ID : 9864492304
Status : Answered
Chosen Option : 4

|Q.13




Ans
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QS|P |&

A B C D

Select the figure which does NOT belong to the group.

RS\ B|&

A B C D
X1.C
v2D
X3 A
X 4B

tion ID : 9864493821
Status : Answered

Chosen Option :2

Q142017 # vt s ‘SFAICH $134T & oG® Fief 87

Ans

‘Who wrote the book ‘Immortal India’ published in 20177
| 3rrer Ry

Amish Tripathi

x 2 o @8
Vikram Seth

v 3w 3EeT
Aravind Adiga

x4 AdeT T
Chetan Bhagat

Question ID :

9864492373

Status : Answered

Chosen Option :

1

Q15 ofy g 6x- 5y + 11 = 0 3R 15x + ky-9 — 0O W RS ga A g ar k

F AT g g2

If the equations 6x - 5y + 11 = 0and 15x + ky - 9 = 0 have no solution, then the

Question ID
Status

19864492936
:Not Answered

value of k is: Chosen Option : --
Ans o 1._ 125
<218
X3 -18
X 4125
Q.16 : :
oo ) T g e grer? Question ID : 9864492675
. . . Status : Answered
The number of diagonals in a decagon is: Chosen Option : 2
Ans o 1.35
K225
<320
X 410
Q.17
Question ID : 9864493064
Status : Answered
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T WoE gl R i

An echo is returned in 3 s. What is the distance of the reflecting surface from the source,
considering the speed of sound as 342 ms™*?

x 1 171 HX
171 m
342 HeT
342 m
513 #HIeT
513 m
644 HIET
644 m

X2

v 3

< 4

Q18 CraforfEa & @ Fid a1 A=)t & 93T A= 16T 2R JAar 87

Ans

Which of the following is not a hormone found in animals?
7 a!
Insulin

Adrenaline

x5 ARRTFEA
Thyroxin
Elicacy

Auxins

r 0

W 4

Question ID : 9864493376
Status : Answered
Chosen Option : 2

Q.19 & 71w Fuer W AR & 3k oo & & § 712 Awgant 7 § 3989 ST a@

Ans

f&fa & @)1

FYA:
RETERARTS AR 7 deRicrs yafca:lt & faFm & Fror §

e

HIe T

1. FHAMER 94 FFRICHET Toa3il $1 ol A Teel abRIcHT Tea3il #i
IANR Fd gl
2. SAFRICHS Ygel3il T <A HHRICHF Tgel3il 1 delell # sga s 1

Consider the given statement and decide which of the given assumptions is (are) implicit.

Statement:

The serials/soaps are a reason for developing negative tendencies in women.

Assumptions:
I: Newspapers highlight the negative aspects first than the positive aspects.
II: The attention for negative aspects 1s much higher than positive aspects.

1 3t 2 gt g i€t €
F !

Neither assumption I nor I 1s implicit.

, sharel Hdr 1 fHRd gl
. Only assumption I 1s implicit.

1 3 2 et Rfga g
K3

‘Both assumptions I and IT are implicit.

x

Question ID : 9864494195
Status : Answered
Chosen Option :1
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v
Only assumption II is unplicit.

Q.20 X aféer & 30T e R g ¥, dr i b B e #F 2257 g ¥ 3 R B g

Ans

% fyofi 90° q’{ﬂ?m%l HEX T s frar o Question ID : 9864494387

. . . . o Status : Answered
Facing South, X turns 2252 clockwise and then 90° anti-clockwise. What direction is X
facing now? Chosen Option : 4

X1E{ﬁ'UT'q“é'

South-East

3o 99
2. o~

North-East

x

Q.21

Ans

TefafeT 39 M@ & Si9-ar 3R 39 T st & gutar § S e &

A st g ¥ ok @ o A ae o a8 Question ID : 9864493871
Kabaddi Status : Answered

B 2 R Chosen Option : 2

s T u

Foothall | ¥

Cricket

Kabaddi - #a3r
Football - Fearer
Cricket - fhe

In the following Venn diagram which letters represents all those who play Cricket as well
as Kabaddi and also all the three games?

Kabaddi

F Q R

5 T u

Football | ¥

+Q
+T
+ R
+V

S0
v &)
K3
< 4

nwwuwww

Q.22

Question ID : 9864494177
Status : Not Answered
Chosen Option : --




Sales of Bikes in India as per the Colour in
2009

Green- &1

Golden- =gl

Brown- sfir
Black- Teir

Silver- et
White- @ihe

Red- @rer

Yellow- 9Tl
afg 2009 # &= 7§ AreT-wElRel F¥ F& FEA 6,000 o, & fFw
M HHE F FAEAE, R G A Ae-Estat # aAs T §
ST T 9r?

Sales of Bikes in India as per the Colourin
2009

5%

5%
20%

20%
15%

g 10% 10%
10% 8% %
i ]
. I |

Blue Green Golden Brown Black silver White Red Yellow

If the total number of bikes sold in 2009 was 6000,
then according to the given data, bikes of which
colours were sold equally?

F !

der 3R g T Fr e Ty HR T Hr
Yellow and green put together and golden

X 2

=a AR g T H v Ay AR geEed T o
Silver and green put together and golden

< 3.
ek 3T gY TT FT v w HR geEedr T
Blue and green put together and golden

v 2

g H Fe T H vk Ty HR gy o H
Brown and black put together and green
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Q.23

45,30 3T 35 &1 9.9. fohaaT 87
The LCM of the three numbers 45, 30 and 35 1s:

Question ID
Status

19864493003
: Answered

Chosen Option : 3
Ans 1180
X 2 840
v 3630
#4420
Q.24
Question ID : 9864493887
Status : Answered
Chosen Option : 2
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SIS

A B C D
Select the figure which does NOT belong to the group:

SIS

A B C D
Ans ?(1-(3
X 2B
v'3D
XA

Q.25 5kg 8T T T TEI F 4m F FAE T 5ET AH g IH TG T T
e TECATHITT & & T AT fehal §RT? (AT o g =10 m/s? )

A 5 kg object is raised through a height of 4 m. The work done by the force of gravity y
acting on the object is (take g = 10 m/s?): Chosen Option : 3

Question ID : 9864493282
Status : Answered

Ans =200 ELE'
1.

—2007
—20 ST
x2 "

—207

200 el
X 3. o
20017

20 et
Xa R
2017

Q.26 arEEr-Sr-aTAT # UHE & TR § 9Rd # Tgen FEH G arer gud
I

Vasco-Da-Gama became the first Furopean to set foot in India via the sea in

Ans 5 1.1489

Question ID : 9864492109
Status : Answered
Chosen Option : 4

X 2.1488
< 31499
v 41498

Q.27 =i feu a0 e I HE AT §U TF AT KL Fud T A & Tt

_ tion 1D : 9864493668
- S— AN Question

Status : Answered
U Chosen Option :1

fﬁa;ﬁmﬁﬂ%l

forsa:

1. farg F e off Sor F AoErdr e A6

2. fagd & F= 3 ¢t & TARIadr O gl
Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
China is a commutist country.

Conclusions:
1. No country in the world has a communist rule.
2. Many other countries in the world have a commumst rule.

Ans



13@?{%@5&2@%%'

Only conclusion 2 follows

) Faor fAsHY 1 T are g1 BT &
Only conclusion 1 follows

3_u‘rra’H HTTAE 2 F1 e g T &
Neither 1 nor 2 follows

L] 3T 2 &t &1 urel & W §
Both 1 and 2 follow

x

x

v

x
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Q2 s %'@rﬁﬂﬁaaﬂ?‘rwm 9o &har &7

25 divided by -

Ans 1

X1.ﬁ

X 25
V3125
X< 425

Question ID : 9864492602
Status : Answered
Chosen Option : 2

Q.29 7fy & & Aplart F T Tede F HeAel T AN T T AT THE a1 Tbeh
taramE &

*xe0

If three groups could be formed using the given figures only once, these groups would be

B AG DX
=48

Ans 1 (1,5,8), (3,4,7) 3T (2,9,8)
(1,5.6), (3,4,7) and (2.,9.8)

v (198), (247) AN (3,5,8)
(1,9,6), (2,4,7) and (3,5.8)

L (1,9.6), (257) 3R (3,4,8)
(1,9,6), (2,5,7) and (3.4.8)

x o (1:98), (2438) AN (3,5,7)
(1,9.6). (2.4.8) and (3,5.7)

x

Question ID : 9864494054
Status : Not Answered
Chosen Option : --

04 4 (1/6)[~10x (25 — 13 — 3)} = (=5)]=7?
4 + (1/6) [{—10x (25 — 13 — 3)} = (—5)]=?
Ans x 1. 6

Question ID : 9864492499
Status : Answered
Chosen Option : 2




V27
X309
X 48
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Q3 Ffeaa YA FT A FENT AT FFaar gar 22

Ans

What is the standard room temperature in Kelvin?
<1198 K
V298 K
#3373 K
<4273 K

Question ID : 9864493627
Status : Answered
Chosen Option : 3

Q.32 TR a7 TS & 0T Sfceafer @t e § 310 a8 G o FheT 8

Ans

Echoes may be heard more than once due to successive or multiple:

F ! e
Rarefactions
2 EEGCH
Diffractions
X3 319 |Ei I
Refractions
v T

Reflections

Question ID : 9864493563
Status : Answered
Chosen Option : 4

QB FH A T T FoamAT SR gt aT F

Ans

HIAS F AT T3 & STF & GO § o T H T 3= H7 AT F=T 57

The sum of the lengths of the edges of a cube is equal to the perimeter of a square. If the
numerical value of the volume of the cube is equal to the numerical value of the area of
the square, then the length of one side of the square is:

o e
27 units
X2 30 SFIS
30 units
K 3. 7% :
0 units
X4_123'$|é

12 units

Question ID : 9864492674
Status : Answered
Chosen Option : 1

Q.34

Question ID : 9864493675
Status : Not Answered
Chosen Option : --




Ans

T AF AT 4 & o F g v w7 qﬁmg%vﬁl_&gpﬁalertln

#$r =T fFaer 22

W Number of students

@ @ o o @

Q & & & Q
L R A \&"‘Q

The bar graph represents the favorite fruits of Grade 4 students.

What is the total number of students in the class?

M Number of students

Q.35 frawt 77 @ &7 ¢ 3eT A & T, B & WA 27
Who first discovered that every eighth element had properties similar to that of the first?

Ans

Aol
Mendeleev
Hrstel
Moseley

CIEEIEES
Dobereiner
¥ SR
Newlands

F !

X2

< 3.

Question ID : 9864493273
Status : Answered
Chosen Option :1

Q36 e & T F ITAE S TGS TR F IS &
The group of crop plants that are vegetatively propagated is:

Ans

v TeaAT, 3T AR e

sugarcane, potato and banana

Question ID : 9864493118
Status : Answered
Chosen Option : 3

x

x33ﬂ?~!€m3mm

potato, papaya and banana

HITH, TE=ted 3T I
2
groundnut, drumstick and cashew nut




) T, i 3R A

onion, coriander and lime

<
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Q.37 3Hfepdeted & e B STellel IT HEeT SSHFADS 3o &0 THT HisT °F
FRfEm aftm e 2

Which type of reaction occurs when carbon burns in oxygen to give carbon dioxide?

Ans xtmy‘mﬁ:m

Decomposition reaction
X2 AeTcAs ATATHar
Addition reaction
X3 g AR
Substitution reaction

g7 rtatEar

Combustion reaction

W 4

Question ID : 9864493052
Status : Answered
Chosen Option :1

Q.38 =i & v g ¥ Fowe gemme sk Pewr @t T ¥ gemee 3k e @
T #| 30 TF $ Teg W TNl & FHROT F0 g WA nIA Y | 0
F AT Fraar grem:

Consider a planet whose mass and radius are both twice the mass and radius of Earth. The
acceleration due to gravity on the surface of the planet is n times that on Earth. The value of
nis:

Ans x1_2
X 24
X3

1
¥ g
2

Question ID : 9864493220
Status : Answered
Chosen Option : 4

Q.39 Rw 77w Wt F eOES T8 HY A & 5w sen & F v Sl
FoEr F & FF g T
T T T T H ARl T A T aTAdT 3ot i 9 R gl 7

HYT:
1. g T Rewr & sl &
2. FAAR T= TR H 0T e Ao B §

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Does the children’s ability to grasp ideas in school depend on their intelligence?
Statements:

1. Intelligence is unaffected by bad teaching
2. Poor children do not perform well in the school

Ans (1.
FIT FUA 2 TITCT § A FIT FAT 1 JTAT &

Statement 2 alone is sufficient while statement 1 alone is insufficient
X2
Faer FUT 1 AT § FAa(F FadT FAT 2 AT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

Xa.m1 3T Fue 2 g gareg §
Both 1 and 2 are sufficient
4mm13ﬂtm€rm2qﬁﬁ¥r%

Neither 1 nor 2 is sufficient

x

Question ID : 9864493802
Status : Answered
Chosen Option : 4

Q.40 [

Question ID : 9864493108




Ifg acT A’ 3y B T g A A= 152, 262 ZWW'SQQ@
A ST Aeall o HATA gaRT AT e &1 g Far grme

If the electronic configuration of elements A* and B* are 1s?, 252 2p®, 3s* and 1s?, 2s?
2pS, 352 3p*,, respectively, then the formula of the compound formed by the combination
of these elements will be:

< 1. AB,
v 2 A,B
< 3. AB,
X 4 AB

vtjobsalert.in

Status : Answered
Chosen Option : 4

X4.i

Question ID : 9864492701
Status : Answered
Chosen Option : 3

Q.42 AT J U Fia A1 TS I & G110 7 30 & ¥ J 39417 faar

Ans

ST g
‘Which of the following is used as a catalyst in the hydrogenation of vegetable 0il?

H
F ! :
H;

Pb
He

oy

Question ID : 9864493571
Status : Answered
Chosen Option : 1

Q.43 2016 1 =i HAS FEA o Then s5ar Tow FRR@o # o B w

srenfya &2

The 2016 black comedy crime thriller “Udta Punjab’ is loosely based on which of the
following?

1 9T H 9T SH
Child labour in Punjab
oATT H 'a’l{ & Scaree
Wheat harvest in Punjab
| O # efer were @ geaanT
v &)
Drug abuse in Punjab
, oo H T gaEET
Partition problems in Punjab

K2

Question ID : 9864492222
Status : Answered
Chosen Option : 3

Q.44

Question ID : 9864493767
Status : Answered
Chosen Option : 1




el 1
e
1S Feal faee AT ¥ | Fo fafeadt 95 § w95 @R 6
o=
1. @l Fod R
2. W P §
3. & Gr f&eel §
4. FE GIHT Fool TG E

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:
No dog is a cat. Some cats are rats, All rats are pigs.
Conclusions:

1. All dogs are rats
2. All pigs are rats

3. Some pigs are cats
4. No pig is a dog

Ans v Faer frshy 3 TTEIT FAT §
1.

Only conclusion 3 follows
e forswd 1 3R 2 sigeor e #
| Only conclusion 1 and 2 follows
 arer forsehd 1 3R 3 siepeor e ¥
| Only conclusion 1 and 3 follows

433?%@&434@?@%%

Only conclusion 4 follows

x

x

x

Q.45 T Tog T F v Faw Al wst § F 9w F 3T HEer

. . Question ID : 9864493890
% I H| 50 IFR IR v aw &7 wg 7§

Status : Not Answered
Chosen Option : --

SREIE

1 2 3

AN DI

5 6 7

Use each of the following figures only once to form three groups. The three groups thus
formed are:

QEIEIE

1 2

DI

Ans ' 1(1,3), (2,5,4), (6,7)
< 2(1,7), (2,5,4), (6,3)
< 3(73), (2,54), (6,1)
X 4(1,3), (2,6,4), (5,7)

Q.46 2017 Fr AT THAr HiaT o SF F S 0, Sww wEaa soeE, T § .
Question ID : 9864492229
smafea far e
‘Which team won the 2017 Santosh Trophy, the final of which was held in Bambolim, Status : Answered
Goa. Chosen Option : 3

Ane v ufeas Famer
West Bengal



X3
Kerala

x , AaaE

Services
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Q.47 ofg Trdt gfiem & TFe g & o7 34% 3iF U FT 3aedsdr g ar 40 F
T Ty aft & 3mEedsar gt

If one needs to score 34% to pass a test, the pass marks out of 40 would be:

Ans of1.13.6
<2142
<3146
x413.2

Question ID : 9864492886
Status : Answered
Chosen Option :1

Q.48 sl SeFasT & FoAT (FFER 2018 IER) 3T WA HT &2
‘Who is the current (as of February 2018) Deputy Speaker of the Indian Lok Sabha?

Ans x 1 Y. HcOsTAT
Y Sathyabhama
) AT THGTH
Anbumani Ramadoss
v TH. ufges
M Thambidurai
&. JTIATHA
4. =

x

X

K Parasuraman

Question ID : 9864492327
Status : Not Answered
Chosen Option : --

Q.49 wF T FEm I AW 5, 6, 7 W & ¥ franfom rr s £ O v
AHer 7 4 A9 T=ar g1 00 T gt & @ e ol g siadr 87

A natural number, when divided by 5, 6, 7 or &, leaves a remainder of 4 in each case.
What is the smallest of all such numbers?

Ans X 1214
V2 844
X 3 424
X 41264

Question ID : 9864492862
Status : Answered
Chosen Option : 2

Q.50 s Jer & e 3RS F g & F gewshar Remw FEfer & aremsy
& w7 # e G mr &2

Which American of Indian descent has recently been appointed as the President of the
US-India Business Council?

Ans e
xi o
Prith Banerjee
| Torerr 2@ formmer
Nisha Desai Biswal

354‘|:|Tm?~|ﬂ“

Nina Davuluri

v

x

Question ID : 9864492215
Status : Answered
Chosen Option : 3




IHH 9w
Asim Ghosh

X 4
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Q.51 zizw  14fHe, 23T 2 sfF=w & 2.5 7T 3OF Tuw §1 @Y 1 9ER F 12
s et w & 10 B & o o wea §) o6 wm oa T | w4 sl
TET 2 F 15 HFF W FE & RAe fraw B & wag o

Type 1 workers are 2.5 times as efficient as Type 2 workers. Twelve Type 1 workers can
complete a task in 10 days. How many days would it have taken 4 Type 1 and 15 Type 2

Ans

workers to do the same work?

X110
X213
v 11
X412

Question ID : 9864493030
Status : Answered
Chosen Option :1

O A W A U Sl O gEu §ged 87

Which of the following numbers is composite?

Ans

X 1. 67
v 47
X357
X 437

Question ID : 9864493005
Status : Not Answered
Chosen Option : --

Q.53 9T frw 3P Fuer & oy Aoer gt geue oT aetedr S amen

Ans

Ogell &2T &ef 1T &7

India became the first country to partner with which global company on Disaster Response

Management?

r 0 PPIY
Microsoft

el
X2 ©

Google
K3 =

Twitter
v FEgF

Facebook

Question ID : 9864492408
Status : Answered
Chosen Option : 2

Q.54 FzemT A2y ST AN H e IS A S A F oF & T w L @

Ans

g TE &7

The Magdalena River is one of the largest rivers basins of South America. Through which

country does it flow?

X1 et
Chile

Columbia

Question ID : 9864494490
Status : Not Answered
Chosen Option : --

Q.55

Question ID : 9864495069
Status : Not Answered




TataEE T Fr 9 v it F & mmmlﬂgwmgﬁalert'lrlhosen Option : --

& & fow waeg F

50 faeanfat 1 Fem & frae sfRat & 7o F 80% & iU 3w wea
B 7

q=g:

1. aiftg & & I et & 80% & 30w 3w W B R

2. FET F UH-Tage oy & 7ifta 7 80% & HAfeeF 3w gred fmam 2

Read the following question and decide which of the given statements is/are sufficient.
In a class of 50 students, how many girls scored above 80% in Maths?

Statements:
1. Exactly four boys scored above 80% in Maths.
2. One-third of the class scored above 80% in Maths.

F !
U9 FT 3ca¥ &7 & forw o1 Aew 1 38t o1 BeeT 2 woeT &

Either 1 or 2 is sufficient to answer the question.

X2
99T F 3o 3o & T fFesew 1 31t 2 =t gaea g1

Both 1 and 2 together are sufficient to answer the question.

< 3.
9o T 3cc &7 & [T Fad faFeT 2 TS &, 9% HEd e 1 T
& 2
2 alone is sufficient while 1 alone is not sufficient to answer the question.

v 2
9o & 3cal & & [AT Fael faFeT 1 qaeg &, S=id Fao fAesy 2 gaea
& 7

1 alone is sufficient while 2 alone is not sufficient to answer the question.

Q.56 e wa # 92 3R Foifa = & TR & @ #i7 g a5

Ans

e §E1

WA T WATHS. B Fa 10 T iUl et B IR qF ST AMEE

?

as 1 3== e & Bw | feaas wes & wnfie e A e am
g wcaf FEcaor A #
a& 2. ReEmdt #t g 3 FaT F enT FE HHEET O

Read the following question and decide which of the given arguments is/are strong.
Question: Should CBSE introduce the retention system till Class 10?

Argument 1: The foundations laid in lower classes are important for higher education.
Argument 2: It is boring for a student to repeat the same class again.

x1.F|#1 3R 2 = v
Both arguments 1 and 2 are strong.
 F@A a1 AR T & 2w g
Neither argument 1 nor 2 is strong.
X ¥ IF 2 & T B
Only argument 2 is strong.
| e T 1 & wAR
Only argument 1 is strong.

x

x

v

Question ID : 9864494144
Status : Not Answered
Chosen Option : --

Q.57
aa+ S =3FAad+ 5 =2
a a

1
Ifa®? + = = 3.thena® + i =9

Question ID : 9864492896
Status : Answered
Chosen Option : 4




Ans x.]‘ 3V1'§
X 2343
'3 245
X4.2\f§

www.govtjobsalert.in

Q.58 wF ¥F F = I F AT A U AAE I A AT AT 8| IR TEe ST i U
T T ST § A 8 T 5T H 3T &1 BAT oeTa §, Forae srrer St S ar
T & T F o &1 g S et TRt 3T 5 U Sl & s e Ee
T 319eT 4 T el e & TR o egar | Teeh S o R srmemm wEw

A sump is filled by three tankers with uniform flow. The first two tankers operating
simultaneously fill the sump in the same time during which the sump is filled by the third
tanker alone. The second tanker fills the sump 5 hours faster than the first tanker and 4
hours slower than the third tanker. The time required by the first tanker is:

Ans x . 16 .a'%:
16 hours
0 T

9 hours
10 T
10 hours
15 T

15 hours

K2

X3

v &

Question ID : 9864492532

Status
Chosen Option

:Not Answered

Q.59 ve GFAGH AT G T 20% T ahT 31 25% A3 AT LT ¢1 3T ITG F
mWﬁTmﬁquwwﬁm? 600 g7

A shopkeeper allows a discount of 20% to his customers and still gains 25%. Find the
Marked price of an article which costs T 600 to the shopkeeper.

Ans  of 1. 937.50
X 2.7 1,000
< 3. 0937
X 4.%930

Question ID
Status
Chosen Option

198644924388
: Answered
14

Q.60 7fy sin*A - cos*A =1 8. F 2 w1 AW BAAFr@Em (0 <4 < 90°)
Ifsin A — cos*A = 1 then 2 in Degrees is (0 < 4 < 90°)
Ans  of 1 45
< 230
< 3. 60
X 440

Question ID
Status

Chosen Option :

19864492496
:Not Answered

Q.61 zfEa sit fig afo-ae &1 7ome 3 ofee s &1 Fpoma, g @ o
T AT AT Fm T A & 2

Amit and Ritu are a couple. Mrinal and Shonal are brothers. Mrinal is the brother of Ritu.
How is Shonal related to Amit?

Ans x| S FE E Har ars

Uncle
, TR SIS/ HAT ATE
Cousin

| e she e = e/ TEAS

Brother-in-law

x

v

Question ID
Status
Chosen Option

19864494291
: Answered
:3
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Brother
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Q62 537 Fr fameT # I A PEATATET STAT F QT HLET:

21, 55, 19, 50, 17, 45, ?

Choose the correct alternative which will complete the following series:

21, 55, 19, 50, 17, 45, 2

Ans X114
v 215
X313
X412

Question ID : 9864493648
Status : Answered
Chosen Option : 2

Q.63 A, B Fr gomT A ST St G FH FEFATE | A R C v T, B R ge A e
T AT A FE T FHS | T A, B 3N ¢ e v F 30 Byt F mATT B
Heha &, it 318t & Tiieh Y 98 T e A fhae e R

A can work twice as fast as B. A and C together can work three times as fast as B. If A, B
and C complete a job in 30 days working together, in how many days can each of them
complete the work.

Ans X 1.40,80,100
X 2.50,100,120
W 3 60,120,120
< 4. 60,100,80

Question ID : 9864492529
Status : Answered
Chosen Option : 1

Q.64 FIg wfekrer R, 9fRAUE H v Hic [8910 @ ¢l I gfedess & feEar
V& T & smm o Regd s g i o #

A source maintains a current I in a resistor of resistance R. If V is the potential difference
across the resistor, the electrical energy dissipated in the resistor in time t is givenby __ .

Ans X1 p2]t
vVt
Pl 0
X 4 IRt

Question ID : 9864493305
Status : Not Answered
Chosen Option : --

6 Frafof@a simen # & auieyd IR & 94T H

U, o, 17, A

Select the letter missing from the following series.

U0, L2 A
Ans X1Q
v2E
X 3D
X 4P

Question ID : 9864493964
Status : Answered
Chosen Option :2

Q.66 sfiEzferam & fom @y & 2018 & Toeet gU TSgHS Well H1 Hawarelt H?

Which city in Australia is hosted the 2018 Commonwealth Games?

Ans ofeers

Ko

Adelaide
qay
Perth

<2

Question ID : 9864492210
Status : Not Answered
Chosen Option : --




V> Teg FIET
Gold Coast

X4.m

Hobart
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Q.67 gfér o el 3ggnT # 5 e % AT T 6000 3N 34T 7 6 FEH & fore T
5000 fovdrer B @mer A ST T AT A Ae?

Surbhi invested ¥ 6000 for 5 months and Urba invested ¥ 5000 for 6 months in a venture.

The ratio in which they will share the profits is:

Question ID : 9864492785
Status : Answered
Chosen Option : 2

Ans X' 1.6:5
v21:1
K35:6
X 4.36:25
.68 @ 92 Q Question ID : 9864494005
?4 @ ; Status : Not Answered
:? g @ Chosen Option : ==

E
i
3
g

T el TH T ITAET F i HHE ST ¢ o ¥ wEg

o[eD

1

v

Lo

If three groups could be formed using the given figures only once, these groups would be

Ans 1 (9,3,6), (2,5,7) 3T (1,4,8)
(9.3.6), (2.5.7) and (1.4.8)

x o 838), 247) AN (1,5,9)
(8,3.6). (2.4.7) and (1,5.9)

L (93.7), (24.8) 3R (1,5,8)
(9.3,7), (2.4.6) and (1,5.8)

v 038, 247) 3T (1,5,8)
(9,3,6), (2,4.7) and (1,5.8)

x

® ffaf@a & ¥ Hia &7 I[uT TR HT AGT & ?

Which of the following is NOT a property of bases?

Ans x1_
3 set & wry fafE aa ¥ e 5w Rga e ¥

They react with acids and neutralise them
3T TG HaT 2T &
They have bitter taste

v 3
¥ Aoy ey i o TT F gReafEg S ¥

They turn blue litmus red
X4

X2

Question ID : 9864493210
Status : Answered
Chosen Option : 1




T

They turn red litmus blue

Q.70 frfaf@a s@en #, wed e (?) Sa @M M 3R seufed & T

T faheul # U HER A TAA H

ILLLOR,?

In the following series, one letter is missing as shown by the question mark (?). Select the
missing letter from the given options.

Question ID : 9864494172
Status : Answered
Chosen Option : 4

LL.OR,?
Ans ?(" .\
X2 X
X oW
vy
Q.71

Ans

v a7 eedt § ¥ gafag o6 & 999 FRT

e sfagm =g 2
Select the related word from the alternatives.
Nation : History : : Man:  ?
. ST
Biography

Ka
Geography

I9ATH
Novel

X4

Question ID : 9864493783
Status : Answered
Chosen Option : 1

Q.72

Ans

ICT-IAUSH HH g TgT T b

The primitive atmosphere was reducing because:
TeFHISTe TATY] e o

Oxygen atoms were more

2
TSIl SATY] Hishd o 3 31T Fear 7

Hydrogen atoms were active and in greater numbers
ATSEIAeT TIATI] 3T &
X3 2
Nitrogen atoms were more
. FTSgI=Tel AT FT &1 F|

Hydrogen atoms were few

r 0

Question ID : 9864493157
Status : Not Answered
Chosen Option : --

Q.73

Question ID : 9864493903
Status : Answered
Chosen Option :1
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& 3971 6000 & ¢ o I F dgER T 2l

Sugar - 2EFRT Wheat - ﬂﬁ Rice - =maer Others - 30

The pie chart represents the annual yield in tons of a certain place. If the yield of sugar is
6000 tons then the yield of wheat will be tons.

Ans  of 1. 7500
X 2.7200
X 37000
X 4. 6800

.74 = ¥
Q74 R 97T FERT S F IR W H?lnqmﬂ' e ?,?fl Question ID : 9864494255

Status : Answered

e |

< '«::2,* Chosen Option : 1
& E
ﬂ: da o .7

Select the missing term based on the given related pair.

Ans CEED)

X 4

Woman

Q7s ‘
fTalof@a & ¥ 9 & swg3 #1 798 737 F9g 87 Question ID : 9864493535

Status : Answered

Which of the following is the largest group of animals?

Ans arfarEr

Chosen Option :1

v
Arthropoda
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Mollusca




